
Component Checklist

IMPORTANT INFORMATION

Step 1. Check Components

! IMPORTANT - Install TH-1040-VFL Small-Medium TV Articulated Arm as per the Installation Instructions
! This product supports a maximum load of 35kg (77lbs).
! This product supports VESA mounting hole confi gurations: 100mm x100mm, 100mm wide x 150mm high, and 200mm x 200mm.
! The manufacturer accepts no responsibility for incorrect installation.

Check you have received all parts by comparing supplied parts against the Component Checklist and Hardware lists above.

Articulated Arm DM-A
M4x16/30
(x4 each)

DM-B
M5x16/30
(x4 each)

DM-C
M6x16/30
(x4 each)

DM-D
M8x16/30
(x4 each)

DM-G
M8 x 5mm

Spacer
(x8 each)

DM-H
M8 x 15mm

Spacer
(x4 each)

DM-I
Spanner

DM-E
M5

Washer
(x4 each)

DM-F
M8

Washer
(x4 each)

Display Mounting Hardware

Tools Required
• Power Drill

• Phillips Head Screwdriver

• 4.5mm (3/16") Drill Bit

• 10mm (3/8") Masonry Drill Bit

• Spirit Level

Drill
Template

Step 2. Remove VESA Plate, Cable Clips, and Wall Mount Covers.

VESA Plate

DM-I

1    Remove nuts using the supplied spanner.

2    Lift VESA Plate to remove.

3    Remove cable covers.

4    Remove wall mount covers.

2

1

3
3

3

4

4

4

WM-A
Coach
Screw

(x4 each)

WM-C
M6 Washer
(x4 each)

 Wall Mounting Hardware
WM-B
Nylon
Anchor

(x4 each)

Installation Instructions 
TH-1040-VFL Small-Medium TV Articulated Arm

maemgarcia
Placed Image



Mounting Screw (DM-A,B,C,D)

Washer (DM-E,F) -
Use spacer DM-G
or DM-H as required

VESA Plate

Bottom of DisplayNote: Larger circle
should be closer to
bottom of display

Choose mounting hardware
and hole pattern to match
your display

Spirit Level

WM-C

WM-A

Drill Template (discard after holes drilled)

4.5mm
(3/16")
hole

55mm (2.2")

Stud

Arrow must
point upwards

Step 3. Attach Tilt Brackets to Screen

Step 4. Reattach Wall Mount Covers Step 5. Attach VESA Plate to Display

Installation Complete

No portion of this document or any artwork contained herein should be reproduced in any way without the express written consent of Atdec Pty Ltd.
Due to continuing product development, the manufacturer reserves the right to alter specifi cations without notice. Published 26.09.16 ©

Tighten screws through
slots and into VESA Plate
using supplied spanner.

1

2

+5° 
-5° 

- Loosen both nuts to adjust the tilt angle.
- When desired angle is reached,
re-tighten the nuts to secure.

LoosenTighten

Route cables and push covers onto arm.
Ensure sufficient slack is left for arm movement.

Option 1

Option 2

PUSH

PUSH

PUSH

+5° -8°

LoosenTighten

- Loosen nuts on both sides of 
mount to adjust the tilt angle.
- When desired angle is reached,
re-tighten the nuts to secure.

Masonry Wall Timber Stud Wall

OR

10mm 
(3/8")
hole

60mm (2.4")

Wall

Spirit Level WM-A
Arrow must
point upwards

WM-C
WM-B

Drill Template (discard after holes drilled)

PUSH

PUSH

PUSH

Step 6. Attach Display to the Arm

Step 8. Horizontal Adjustment 

Step 7. Cable Management

Step 9. Tilt Adjustment




